CVS DEALS 1/8 - 1/14 Savvy Coupon Shopper

SELECT COTTONELLE & VIVA SPEND \$20 GET \$5 EXTRABUCK (LIMIT 1)

Buy (2) Cottonelle 9 Mega Roll \$10.49 each
Total comes to \$20.98
Use (2) \$1/1 Cottonelle 4 Mega Roll of larger 1/8 SS Insert coupon
Pay \$18.98 & get a \$5 ExtraBuck
Final cost is \$13.98 for both or \$6.99 each

COVERGIRL COSMETICS BUY 2 GET \$5 EXTRABUCK OR BUY 3 GET \$8 EXTRABUCK

Buy (2) CG Perfect Point Eye Pencils \$5.79 each Total comes to \$11.58
Use the following:
CoverGirl Mystery Coupon Offer (should be a \$3 value)
(2) \$3/1 CoverGirl Eye coupons in the 1/8 SS Insert
Pay \$2.58 & get a \$5 ExtraBuck
Makes them both FREE & a \$2.42 MoneyMaker!

Savvy Scenario using the \$3/\$10 Makeup crt (mine was sent via text 1/5)

Buy 2 CG Perfect Point Eye Pencils \$5.79 each Total comes to \$11.58
Use the following:
\$3/\$10 Cosmetic crt
CoverGirl Mystery Coupon Offer (should be a \$3 value)
(2) \$3/1 CoverGirl Eye coupons in the 1/8 SS Insert
Pay 42¢ & get a \$5 ExtraBuck
Makes them both FREE & a \$4.58 MoneyMaker!

ANY ENSURE OR GLUCERNA BUY 2 GET \$5 EXTRABUCK (LIMIT 1)

Scenario #1

Buy (2) Glucerna Mini Treats \$6.49 each Total comes to \$12.98 Use (2) \$3.50/1 Glucerna coupons 1/8 SS Insert Pay \$5.98 & get a \$5 ExtraBuck Final cost is 98¢ for both or 49¢ each

Scenario #2:

Buy (2) Ensure 6-pack Drinks \$10.99 Total comes to \$21.98 Use the \$7/2 ensure coupon in the 1/8 SS Insert Pay \$14.98 and get a \$5 ExtraBuck Final cost is \$9.98 for both or \$4.49 each

SHEA MOISTURE HAIR CARE SPEND \$20 GET \$10 EXTRABUCK (LIMIT 1)

Buy (2) Shea Moisture Curl & Shine Shampoo/Cond \$11.99 each Total comes to \$23.98
Use the \$6/2 Shea Moisture coupon in the 1/8 Save Insert

Pay \$17.98 & get a \$10 ExtraBuck Final cost is \$7.98 for both or \$3.99 each

DOVE, SUAVE TRESEMME HAIR CARE BUY 2 GET \$3 EXTRABUCK (LIMIT 1)

Buy (2) Dove Hair Care (\$5.49, \$2.75)

Total comes to \$8.24

Use the \$4/2 Dove Hair coupon in the 1/8 Save Insert

Pay \$4.24 & get a \$3 ExtraBuck

Final cost is \$1.24 for both or 62¢ each

NIVEA BODY WASH BUY 2 GET \$5 EXTRABUCK (LIMIT 1)

Buy (2) Nivea Women's Body Wash \$6.49 each Total comes to \$12.98 Use the \$4/2 Nivea Woman Body Wash coupon 1/1 Save Insert Pay \$8.98 & get a \$5 ExtraBuck Final cost is \$3.98 for both or \$1.99 each

AXE SHOWER GEL, DEODORANT, SPRAY BUY 2 GET \$2 EXTRABUCK (LIMIT 1)

Buy (2) Axe Body Wash Sports Blast (\$6.49, \$3.25) Total comes to \$9.74
Use the \$4/2 Axe coupon 1/8 Save Insert
Pay \$5.74 & get a \$2 ExtraBuck
Final cost is \$3.74 for both or \$1.87 each

SELECT COLGATE TOTAL, MAX, 2 IN 1 BUY 2 GET \$5 EXTRABUCK (LIMIT 2)

Buy (2) Colgate Total Toothpaste \$3.99 each
Total comes to \$7.98
Use the \$2/1 Colgate Total digital coupon
Pay \$5.98 & get a \$5 ExtraBuck
Redeem to coupons.com for \$2 rebate on the other toothpaste
Final cost is both for FREE & \$1 MoneyMaker!

SELECT COLGATE MANUAL 1CT TOOTHBRUSH OR 500ML MOUTHWASH BUY 2 GET \$5 EXTRABUCK (LIMIT 2)

Buy (2) Colgate Manual Toothbrushes \$4.49 each
Total comes to \$8.98
Use the \$2/1 Colgate Toothbrush digital coupon
Pay \$6.98 & get a \$5 ExtraBuck
Redeem to Coupons.com for \$2 Colgate Toothbrush/Mouthwash rebate
Final cost is Both for FREE!

SELECT GENERAL MILLS CEREAL 10.4 - 16.70Z \$1.99

Buy (2) Cinnamon Toast Crunch Cereal \$1.99 each
Total comes to \$3.98
Use the \$1/2 General Mills digital coupon
Pay \$2.98 and redeem to IBOTTA for (2) .50/1 Cinnamon Toast Crunch rebates
Final cost is \$1.98 for both or 99¢ per box.

BOOST ORIGINAL 6-PACK BUY 4 GET \$10 EXTRABUCK (LIMIT 1)

Buy (4) Boost 6-packs (2-\$9.99, \$-\$5.00) Total comes to \$29.98 Use (2) \$5/2 Boost coupons 1/1 Save Insert Pay \$19.98 & get a \$10 ExtraBuck Final cost is \$9.98 for all 4 or \$2.49 each

DIAL FOAMING HAND SOAP BUY 2 GET \$3 EXTRABUCK (LIMIT 1)

Buy (2) Dial Foaming Hand Soap 7.5oz for a total of \$5.90 Pay \$5.90 & get a \$3 ExtraBuck Final cost is \$2.90 for both or \$1.45 each

SELECT SOFTSOAP/IRISH SPRING BUY 2 GET \$3 EXTRABUCK (LIMIT 1)

Buy (2) Irish Spring 3-Pack Bar Soap for a Total of \$4.79 Pay \$4.79 & get a \$3 ExtraBuck Final cost is \$1.79 for both or 90¢ each!

PEACH SLICES AND LILY ACNE PRODUCTS - UNADVERTISED DEAL SPEND \$10 GET \$4 EXTRABCUK (LIMIT 1)

Buy (1) Peach Slices Toner \$10.99 Pay \$10.99 & get a \$4 ExtraBuck Final cost is \$6.99

ST. IVES, NOXZEMA, PONDS - UNADVERTISED DEAL BUY 2 GET \$4 EXTRABUCK (LIMIT 1)

Buy (2) St Ives Scrubs for a total of \$9.98 Pay \$9.98 & get a \$4 ExtraBuck Final cost is \$5.98 for both or \$2.99 each

MANE N TAIL 27-32 OZ ON SALE \$5.99 - UNADVERTISED DEAL BUY 1 GET \$2 EXTRABUCK (LIMIT 1)

Buy (1) for \$5.99 Pay \$5.99 & get a \$2 ExtraBuck Final cost is \$3.99

NATIVE FACIAL CARE - UNADVERTISED DEAL BUY 2 GET \$5 EXTRABUCK (LIMIT 1)

Buy (2) Native Facial Care for a total of \$18.98 Use the \$3/\$10 Cosmetic, Hair Facial crt Pay \$18.98 & get a \$5 ExtraBuck Final cost is \$13.98 for both or \$6.99 each

SELECT ROC FACIAL CARE - B1G1 50% BUY 2 GET \$2 EXTRABUCK (LIMIT 1)

Buy (2) Roc Cleansing Pads 28 ct \$10.49 each Pay \$15.73 and get a \$2 ExtraBuck Final cost is \$13.73 for both or \$6.87 each

HYDROXYCUT

BUY 1 GET \$3 EXTRABUCK (LIMIT 1)

Buy (1) Hydroxycut Gummies 90ct \$22.79 Pay \$22.79 & get a \$3 ExtraBuck Final cost is \$19.79

\$5 OFF \$30 PURCHASE COUPON BUY THE FOLLOWING:

- (2) Cottonelle 9 Mega Roll \$10.49 each
- (2) CG Perfect Point Eye Pencils \$5.79 each Total comes to \$32.56

Use the following:

\$5 off \$30 Purchase Coupon

(2) \$1/1 Cottonelle 4 Mega Roll of larger 1/8 SS Insert coupon

CoverGirl Mystery Coupon Offer (should be a \$3 value)

(2) \$3/1 CoverGirl Eye coupons in the 1/8 SS Insert

Pay \$16.56 & get the following:

\$5 ExtraBuck for Cottonelle

\$5 ExtraBuck for Covergirl

Final cost is \$6.56 for all 4 items or \$1.64 each